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QUESTION 1

What communication link is necessary in order to establish an inter-cluster relationship?

A. The cluster interface on each node must be able to communicate with the intercluster interface on each
node in the both the source and destination clusters

B. The cluster interface on the source cluster must be able to communicate with the cluster interface on
the destination cluster

C. The intercluster interface on the source cluster must be able to communicate with the intercluster
interface on the destination cluster

D. The intercluster interface on the source cluster must be able to communicate with the cluster interface

on the destination cluster

Answer: C

QUESTION 2

A customer created a volume with the wrong language code.

What should a customer do to correct this problem?

A. Delete the volume and create a volume with the correct language code.
B. Take the volume offline and change the language code.

C. Change the language code on the volume.

D. Change the language code on the parent storage virtual machine.

Answer: A

QUESTION 3

To achieve high-availability within a FAS8080 EX HA pair, which two requirements are needed? (Choose
two.)

A. Connect the NVRAM HA interconnects of the HA pairs.

B. Connect multiple paths from the controllers to the host.
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C. Connect the local node to the partner node's disk shelves.

D. Enable auto-giveback.

Answer: AB

QUESTION 4

A customer has a 4-node cluster. Two nodes have FlashCache and the other two nodes have Flash Pools.
The customer is interested in deploying and OLTP application with a workload that consists of an extreme
number of small random writes on four LUNs spread across four volumes.

What should the customer do to improve performance for the OLTP application?

A. Place all volumes for the application on the nodes with Flash Pools.

B. Deploy all volumes for the application on the two nodes with the FlashCache installed.

C. Split the volumes between the two nodes with FlashCache and two of the nodes with Flash Pools.

D. Place the volume with the highest read load on the Flash Pool nodes and place the other volumes on

the FlashCache nodes.

Answer: B

QUESTION 5

Which NetApp management tool configures AutoSupport for nodes in a cluster?
A. OnCommand System Manager

B. ConfigAdvisor

C. OnCommand Performance Manager

D. OnCommand Insight

Answer: A
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QUESTION 6

A company has a vault relationship between ClusterA and ClusterB. After a month of operations, the
SnapVault update fails. The primary and secondary volumes have been thin provisioned and are reporting
available space. There is connectivity between ClusterA and ClusterB.

What caused the update failure?

A. The primary volume's aggregate is full.

B. The secondary volume's aggregate is full.

C. Acluster peering relationship was not refreshed every month.

D. There are 251 Snapshot copies on the destination SnapVault.

Answer: D

QUESTION 7

A customer requires a solution that will provide site-level and local failover recovery with support for SMB
3.0.

Which solution accomplishes this requirement?

A. 2-node switchless cluster

B. Fabric MetroCluster

C. Stretch MetroCluster

D. 8-node cluster

Answer: B

QUESTION 8

Which command would you use to disable an account in clustered Data ONTAP?
A. security login lock

B. security login policy

C. security login domain-tunnel
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